Oct. 30,1979 (NOV. 7, 1983 2nd printing) SDD-320

SDD-320 SERVIGE NOTES

First Edition

*SPECIFICATIONS

POWER CONSUMPTION

SDD-320 DIMENSION D S/N W
(A" WEIGHTED) greater than 95dB
Input Level {0dBm=0.775V RMS] DIMENSIONS
NOMINAL +4dBm 482(W) x 92(H) x262(D)mm
MAXIMUM +14dBm Type EIA-2U rack mount
B Switches
Input Impedance Weight
BALANCED 26kQ DIMENSION MODE (OFF, 1, 2, 3, 4) 4kg
UNBALANCED 13k
BYPASS (ON, OFF)
Output Level INPUT MODE (STEREO, MONO)
NOMINAL +4dBm
Load Impedance POWER Switch
BALANCED greater than 600Q B Indicators
UMBALANCED greater than 600Q OUTPUT LEVEL
Gain EFFECT 4

BLOCK DIAGRAM

LEFT LEFT
INPUT lBYPASS BYPASSl OUTPUT

.
CP sreeo D)
— comp. |——{ peLay | Exp. —E%’——{ >
g:_ MONG 06 ? T 0 I v

E = I
<. INPUT MODE ® | a8 = , J;J
jr for noise reduction >< >_@ }

I — NOR/EFFECT |
|
|
|

YP
\NPUT 15 ASS BYPASS l

RIGHT
QUTPUT

> A@.‘LJ comp. | foetav] [exe = | ED @
Q’YT e ol b 3@ ]
s

ouTPUT
DIMENSION
I LFO MODE }J LEVEL

%»«»J METER

+14y

(o]0}

D——o o POWER ! o

SUPPLY
—l—-uv

I REMOTE!

’Q REMOTE JACK

T anwbd

F

Roland

(1983 E-2) Printed in Japan A3

MACHINE SCREW

Power Transformer ?  § T 6—M4X10 BLK
022-086C 100/117V ?i
022-086D  220/240V ¥

RUBBER FOOT
K—=15 111-037

065H0%59

MACHINE SCREW
6 —M4X12 BLK

Power Switch > XE
SDG5P0O01-1  (001-215) 100V Receptacle male
SDG5P001-2 (001-216) 117V NC-3MP  (010-264)
SDG5P502 (001-217) 220/240V Jack HLJ-264-01-030
Button no.9 (016-009) blk (009-0%0)
Jack HLJ-261-01-030
(009-037)
Receptacle
NC-3FP female
(009-263%)

Slide Switch

SBN-22-06
(001-135)
- Push Switch
SUE-12 (001-288)
Button no.9 blk
(016-009)
CHASSIS
0P-154B 061—260B
(149-154B)
Level Meter
TLR401 — Interlock Push Switch
(019-0%%) SUE-52 (001-292)
FRONT PANEL Button
072—-218A no.4 ivory (016-004)

no.8 grey (016-008)
no.86 red (016-086)

HEXAGON SOCKET HEAD BOLTS
gﬁL___E;—‘—_ 4—M4X6 BLK 12%-013



SDD-320

OP-154B(149-154B) (PCB052-497B)

ET-51B(151-051B) (PCB052-496B)

Oct. 30,1979

Ds

G
.
7 séf%gz‘*

£

S

o

.

R

=
kK

;
rF
i
.
&

o
. -

:

e

@g&ﬁ%@%ﬁgﬁ

e

e

SRR

=

ma
S

e
o

o

! T\
-3 N
- - 557 .
2 i s g
T e o .

& el

. -

. o
. .
- . .

.
.

e
7 £

G

R
SR,
i

o

R
G

s

Pr—

3
i
]

CMR

e

T, o
i

@%ﬁ;m

G
...
.

D 2SK30ATM-GR

[) 28C type
[) 28A type

Gy
[ )
D
-I=-
=

R-25J

CRB4FX

181588 or 182473
05Z15A

1N60

Electrolytic
Tantalum
Polystyren
Mylar

Ceramic

3 2
DIMENSION MODE

BYPASS




Oct. 30,1979

SDD-320

R’ 1 lookK
INPUT i

‘*MV
cio3
5
JRC
oS ri"'
3 R106
NG /Wh‘ 16%

Cio8 Ru2

{

3 : loow m g <}‘9‘% P
| X E
1 3 g I ’t.v

I
|
|
|
1
’
|
!

HH

{Eﬁentical to R—channei}

R20I ~ R 206, P2, R2B0
c20 ~ C205,
VR2)

R22  I(gol v IC20s

1\
N Iﬁm

X
E
3—(\‘-‘6

il +Hav

IC101-104 __
IC109-113

i WHT '
| Q4,Q5,
* i oo Q9,Q10, Q110-Q112 —- 2SK30ATM-GR

D8-D11, D101-D106 - 182473 or 131588

+3¥

’}03 AICs e\;

— e mm— — - - ——— — m— ——— o — — ——

H"ASSB/ M,
/
7 PMENSION
J:B—v "
S ¥ s36 s

1,2 ~ 4 SEc.
OV 3.4 -2sKC.

cue RI2ZT VRIZ 26
oK 22xB (0K

Iy 2 — 6.8Vp-p

AATwr 3,4 —daver

—— —

BBD BIAS ADJ.

cLock CANCEL

N
* ICto?7 ] U - :Av
MN30

R2wz~ R278

C 208~ C 261

VR 2z ~VR2x

IC20¢ A IC 3

Q201 + Q200 Q21118212

Pzol v D2eb

S0 NI%
33K &5,’,

RS
.J,"S WA~—3 k' v Wy

Q101-Q105

-— 28CT732TM-GR

Q106,Q108 —- 28A505-Y
Q107,Q109 -- 28C495-Y

Identical to R-channel

S —— W — — G~ — Gwana w— Gmme eem e  Gmes e e

Ro a0

1117% 3948530

R2)
I/X10 D3 TLRAD|

25K30

HA1457

OUTPUT LEVEL METER

28A505
23C495

285D880

25B434
25D23%4

65

87" |34

MN3007
MN%101

pPC4558
TLO82

25AT733
28A1015
25C945
23CT732




SDD-320 Oct. 30,1979

CHECKING & ADJUSTMENT Fuse sec.
SGA 0.5A (008-024)
Connect
To adjust Oscillo- Feed Adjust for 0.5A
scope to KD/"7V : E
R-ch 100Hz,sine, 0dBm | R-ch minimum signal BLK
CMR 1C103 to R (L) INPUT VR11 . =
(Common Mode pin 1 connector with amplitude
Rejection) | [ its 2 and 3 pins 0.5A
(Input MODE : 1C20% conjoined.for a - % > .
STEREO) pin 1 parallel input Lo less than —-60dBm 'ﬁ d 5 i
: ﬁw J. ,,_.._..
centered operating
R-ch R~-ch .
BBD BIAS 16109 1kHz, sine VR12 point — ll-
pin 1 to Both peaks are clip- B ' ‘ PCB 052H185A
R—ch INPUT ping symmetrically '/ 4& Lk
(Input MODE: as input signal YEL4Ry o L_____j
MONO ) L“%3209 L\—ZTC{IZIZ increases. @ oC— u=_===l
|-
5209 m (=1 ~
— -
oM OO
R—ch R-ch minimized clock Fuse prim. WHT
BBD Clock IC109 VR13 components MGP 0.250 (008-050) 100V
pin 1
Components MGP 0.250 CSA (008-229) 117V
Cancel
L-ch L-ch
10209 VR23 MU e
pin 1
OUTPUT (DIMENSION 1kHz, sine 0dB reading at 220/240V TF-758
. : O/ 0= (012-00%)
LEVEL METER MODE: off) to VR1 + 4dBm output
. . . Fuse sec.
(Calibration) R-ch INPUT (@ OUTPUT jack) 0= cn T OomA
l TsoomA  (008-063)
x
TT501-D1 é a ;
CHECKING OUTPUT WAVEFORMS
(042-0%2) 8L
Input 40Hz 1V pp square wave into R-ch INPUT with MODE in MONO. \6 o) ; = ,.
P~ . —~
e [\ o et
DIMENSION MODE. SWEEP RANGE Fuse prim.
QUTPUT WAVEFORM 1 2 3 4 Q\/ CEE_T250mA (008-060)
Qé) O BLK
— ) v
a b a b a b a b e Q'\/ E -
8ms~--12ms | 5ms~--10ms | 6ms---9ms | bms---9ms / \ 1
C: negative going
pulse increases 17028 o
only MODE in 4. (047-023) BLY




Oct. 30,1979
PARTS LIST
072-218A Panel no.218A front
061-260B Chassis no.260B
065H059 Cover H59
108H003 Handle H3
111-037 Rubber foot K-15
016-004  Button no.4 ivory
016-086 Button no.86 red
016-008 Button no.8 gray
016-009 Button no.9 Dblack
010-263 Receptacle NC-3FP
female
010-264 Receptacle NC-3MP
male
009-030 Jack HLJ-264-01-0%0
009-037 Jack HLJ-261-01-030 w/switch
SWITCH
001-135 SBN-22-06 slide
001-292 SUE-52 interlock push
001-288 SUE-12 push
001-215 SDG5P001-1 power 100V
001-216 SDG5P001-2 power 117V
001-217  SDG5P-502 power 220/240V
022-086C Power transformer no.86C 100/117V

022-086D Power transformer no.86D 220/240V

FUSE.
008-050
008-229
008-060
008-024
008-063
) 012-003

FUSEHOLDER
MGP 0. 250A prim. 100V
MGP 0.250A CSA prim. 117V
CEE T250mA prim. 220/240V
SGA 0.54 sec. 100.117V
CEE T500mA sec. 220/240V
Clip TF-758 midget

PCB
151-051B ET-51B assy (PCB 052-496B)
149-154B OP-154B assy (PCB 052-497B)
052H195 LED mounting less parts
052H185A Prim. fuse mounting less parts
SEMICONDUCTOR
Transistor
017-104 25CT732TM-GR
017-03%3 25C495-Y
017-023 25C945-P
017-010 28D234-0 or 25D880-0
017-032 28A505-Y
017-105 25A1015-Y
017-022 23B4%4-0 or 25B596-0
017-024 28AT33-P
017-014 23K30ATM-GR  FET
Diode
018-024 05Z15A zener
018-059 181588 or 18S2473%
018-027  1N60
018-082  Wo02 rectifier bridge
019-028 TLR-124  LED
019-033% TLR-401  LED meter
IC
020-226 TA7612P
020-080  HA1457-W
020-098 NE570ON
020-21%  MN3007 BBD
020-224  MN3101 BBD driver
020-176  MC14069UBCP or TC4069UBP
020-225 TA7318P
020-097  pPC4558C
020-100 TLO82CP

SDD-320

TRIMMER POTENTIOMETER

030-457 SR19R 4'10-ohm
030-465 SR19R 10kB
030-467 SR19R  22kB
030-471 SR19R 100kB
RESISTOR
044-934 CRB4FX  3.16k
044-935  CRBFFX  4.87k
044-9%6 CRB4FX 8.06k
044-937 CRB+FX 9.53k
CAPACITOR
Polystyrene Film
0%35-092  ECQS1151JZ  150pF 5%
Polypropyrene Film
035-047  ECQ-E10473M 0.047mfd  100/220/240V
035-319  ECQ~-U1lA473MC 0.047mfd 117V -
Electrolytic
032-190 ECEA50VR1u 1mfd 50V non-polar
032-23%2 0.22mfd 35V tantalum
OTHERS
064-200  PCB holder DLCBS-6N
042-041 Earth terminal no.41
048-069 Heat sink no.69
120-015 Long nut (spacer) no.l5 3xl2mm
120-002 Long nut no.2 3x16.4mm
123-013% Hexagon head bolt 4x6mm



